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    6 6 6 6 eeeemmmmaaaarrrr[aH$ {H«$`m§Zm D$Om© {H$Vr bmJVo (Xa Vmer)[aH$ {H«$`m§Zm D$Om© {H$Vr bmJVo (Xa Vmer)[aH$ {H«$`m§Zm D$Om© {H$Vr bmJVo (Xa Vmer)[aH$ {H«$`m§Zm D$Om© {H$Vr bmJVo (Xa Vmer)    ((((Amamo½`mgmR>r ì`m`m_Amamo½`mgmR>r ì`m`m_Amamo½`mgmR>r ì`m`m_Amamo½`mgmR>r ì`m`m_))))    

{H«$`m{H«$`m{H«$`m{H«$`m    nwéfnwéfnwéfnwéf    
(70{H$.)(70{H$.)(70{H$.)(70{H$.)    

nwéf nwéf nwéf nwéf     

(50 {H$.)(50 {H$.)(50 {H$.)(50 {H$.)    

ór (50 {H$)ór (50 {H$)ór (50 {H$)ór (50 {H$)    

1. PmonUo1. PmonUo1. PmonUo1. PmonUo    65 50 40 

2. ñdñW ~gUo2. ñdñW ~gUo2. ñdñW ~gUo2. ñdñW ~gUo    100 75 60 

3. ñdñW C ô amhUo3. ñdñW C ô amhUo3. ñdñW C ô amhUo3. ñdñW C ô amhUo    105 80 65 

4. {b{hUo4. {b{hUo4. {b{hUo4. {b{hUo    140 120 100 

5. gmdH$me MmbUo5. gmdH$me MmbUo5. gmdH$me MmbUo5. gmdH$me MmbUo    200 150 120 

6. ^a^a 6. ^a^a 6. ^a^a 6. ^a^a MmbUoMmbUoMmbUoMmbUo    650 500 400 

7. YmdUo7. YmdUo7. YmdUo7. YmdUo    570 450 360 

8. bmHy$S> H$mnUo8. bmHy$S> H$mnUo8. bmHy$S> H$mnUo8. bmHy$S> H$mnUo    480 400 320 

9. ^mar ì`m`m_9. ^mar ì`m`m_9. ^mar ì`m`m_9. ^mar ì`m`m_    600 450 360 

10. nm`è`m MT>Uo10. nm`è`m MT>Uo10. nm`è`m MT>Uo10. nm`è`m MT>Uo    1000+ 800+ 650 
 


